

Particular integral  
of non-homogeneous linear

P.D.E. (reducible or irreducible)

namely

$$F(D, D')z = f(x, y).$$

Case - I - when  $f(x, y) = e^{ax+by}$  and  $F(a, b) \neq 0$

then 
$$P.I. = \frac{1}{F(D, D')} e^{ax+by} = \frac{1}{F(a, b)} e^{ax+by}$$

Thus  $D \rightarrow a$  &  $D' \rightarrow b$ .

Case - II - when  $f(x, y) = \frac{\sin(ax+by)}{\cos(ax+by)}$

then 
$$P.I. = \frac{1}{F(D, D')} \sin(ax+by)$$

or 
$$P.I. = \frac{1}{F(D, D')} \cos(ax+by)$$

which is evaluated  
by putting  $D^2 = -a^2$

$$D'^2 = -b^2, \quad DD' = -ab$$



$$\begin{aligned}
 \text{P.I.} &= \frac{1}{F(D, D')} e^{ax+by} \cdot 1 \\
 &= e^{ax+by} \cdot \frac{1}{F(D+a, D'+b)} \cdot 1
 \end{aligned}$$

$$\begin{aligned}
 \text{P.I.} &= \frac{1}{(D-D'-1)(D-D'-2)} \sin(2x+3y) \\
 &= \frac{1}{D^2 - 2DD' + D'^2 - 3D + 3D' + 2} \sin(2x+3y) \\
 &= \frac{1}{3(D'-D) + 1} \sin(2x+3y) \\
 &= \frac{3(D'-D) - 1}{9(D'^2 - 2DD' + D^2) - 1} \sin(2x+3y) \\
 &= \frac{(3D' - 3D - 1) \sin(2x+3y)}{9(-9) - 18(-3 \cdot 2) + 9(4) - 1} \\
 &= \frac{1}{10} \sin(2x+3y) - 3 \cos(2x+3y)
 \end{aligned}$$

Ques - Find the p.I. of

$$(D-D'-1)(D-D'-2)z = \sin(2x+3y)$$

Sol<sup>n</sup> - C.F. =  $e^x \phi_1(y+x) + e^{2x} \phi_2(y+x)$

Solve

$$(D^2 - D')Z = x e^{ax + a^2 y}$$

Sol<sup>n</sup>

$$P.I. = \frac{1}{(D^2 - D')} x e^{ax + a^2 y}$$

$$= e^{ax + a^2 y} \frac{1}{(D+a)^2 - (D'+a^2)} x$$

$$= e^{ax + a^2 y} \frac{1}{D^2 + a^2 + 2Da - D' - a^2} x$$

$$= e^{ax + a^2 y} \frac{1}{D^2 + 2Da - D'} x$$

$$= e^{ax + a^2 y} \frac{1}{2Da \left( \frac{D}{2a} + 1 - \frac{D'}{2Da} \right)} x$$

$$= e^{ax + a^2 y} \frac{1}{2Da \left( 1 + \frac{D}{2a} - \frac{D'}{2Da} \right)} x$$

$$= \frac{e^{ax + a^2 y}}{2a} \frac{1}{D} \left( 1 - \left( \frac{D}{2a} - \frac{D'}{2Da} \right) \right) x$$

$$= \frac{e^{ax + a^2 y}}{2a} \frac{1}{D} \left( x - \frac{Dx}{2a} - \frac{D'x}{2a} \right)$$

$$= e^{ax + a^2 y} \left\{ \frac{x^2}{4a} - \frac{x}{4a^2} \right\}$$